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Question 1.Select the related word/letters/numbers from the given alternatives:

& 72 faewedt 7 @ Hafeerd eree)sarl/aear & gfav
Air:Bird::Water: ?

Iy gal :: et ?
Options:

1) Fish

ASr

2) Swim

GG

3) Wash

AT

4) Drink

Sl

Correct Answer: Fish
AT

Candidate Answer: Fish
Sl

Question 2.Select the related word/letters/numbers from the given alternatives:

& 71 faemedt 7 @ Hafeerd eree)sarl/aear & gfav)
ACEG:BDFH::IKMO: ?

Options:

1) IIKL

2) JINP

3) KLMN

4) HIJK
Correct Answer: JLNP
Candidate Answer: JLNP

Question 3.Select the related word/letters/numbers from the given alternatives:

3 1 ol & @ Haferd eree) 3R/ aedr # g
12:20::30: ?

Options:

1) 15

2) 35

3) 42

4) 48
Correct Answer: 42
Candidate Answer: [ NOT ANSWERED ]
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Question 4.

For the following questions

Find the odd word/letters/number pair from the given alternatives.
(A) Neurologist (B) Dentist (C) Architect (D) Paediatrician

TArATaf@d veat # fow 1w faehonl & & fawey e/ 31ar/EEdT 7o &l giaAv ?
(A) iRt far=miet (B) & Raifeheqies ( C) IR (D) sTer Rifdhcerh

Options:
1)A

2)B
3)C

4)D
Correct Answer: C
Candidate Answer: C

Question 5.

For the following questions

Find the odd word/letters/number pair from the given alternatives.

ARG veaT # U 91T faehedl & & fawe e/ 3/6R/EEdT 78 HT giav ?
(A) KP (B) MN (C) HR (D) GT

Options:

1)A

2)B

3)C

4)D
Correct Answer: C
Candidate Answer: C

Question 6.

For the following questions

Find the odd word/letters/number pair from the given alternatives.

rfaf@a veat # R arv fwmedt & & Rawer e/ srery/dear o 1 gfav ?
(A) 16-28 (B) 20-30 (C) 30-40 (D) 40-50

Options:

1A

2)B

3)C

4)D
Correct Answer: A
Candidate Answer: A

Question 7.Arrange the following words as per order in the dictionary.
TAFATATT Usel T ereeehrer & feT 1T el & IR i@ ?

1. Syringe 2. Syphilis 3. Syncretism 4. Synarchy 5. Submerge
Options:

1) 4,5,2,3,1

2)5,4,3,2,1

3)5,3,4,1,2

4)4,1,2,3,5



Correct Answer: 54,3,2,1
Candidate Answer: 5,4,3,2,1

Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
TAFATET TeaT 7 Teh Jiefshat fem 1T &, Foraat Ueh ue et &1 QU 10 fashen &1 & a5 WY fashew GiAT it 3regshat il QU ?

WYV, ?, IKH, BDA
Options:

1) OPR

2) ROP

3) PRO

4) OQH
Correct Answer: PRO
Candidate Answer: PRO

Question 9.Which number will complete the series?
T et & Ueh 31eTsha 1T a1 &, TSrast ek g ofed &1 fU 910 faehedt & a8 WEY fashed AT S 3Fgshal T O Y ?

6,8,17,19,28,30,7
Options:

1) 32

2) 37

3)38

4) 39
Correct Answer: 39
Candidate Answer: 39

Question 10.A is B's brother, C is A's mother, D is C's father, F is A's son. How is A related to F's child?

A BHFEE, C, AR ATE, D, CH AT, ARF, AFTITEI A, F & = & FoFe TR Toaifer § ?
Options:

1) Aunt

T

2) Cousin

EEREIS

3) Nephew

Enic

4) Grandfather

crer

Correct Answer: Grandfather
arer

Candidate Answer: Grandfather
erer

Question 11.Seven boys A,B,C,D,E,F and G are standing in a line.
(i) G is between A and E

(ii) F and A have one boy between them

(iii) E and C have two boys between them

(iv) D is immediate right of F

(v) C and B have three boys between them

Who is second from left?

ard a5Hh A,B,C,DEFIRG U aca HE@SE1 ()G, AXREF T F g
(if) F 3R A & or 3 v iz &1

(iii) E 3R C & dra & &y o &

(iv) D, F & & grft 317 &1

(v) C 3R B & ey 31 AT w15 €1 978 & GERT oI5 it § ?

Options:

1)C

2)G

3)E

4)A
Correct Answer: E
Candidate Answer: E



Question 12.From the given alternative words, select the word which cannot be formed using the letters of the given word:
Frrfafa fasmedt & @ g 2rea AT S T 10 2reg & 37aRT T F2aT 93k 8T T SIT e T ?

MEASUREMENT

Options:

1) TEAMS

2) MASTER

3) SUMMIT

4) SUMMER
Correct Answer: SUMMIT
Candidate Answer: SUMMIT

Question 13.In a certain code language the word EXAMPLES is written as EMAXSEPL. How will the word BUOYANCY be written in that language?

T g $TTT 3 EXAMPLE 2Tse; s EMAXSEPL Tor@T ST &1 39 ST 3 BUOYANCY 216¢ 3T $hay forar SITeaT ?

Options:
1) YBANCYOU

2) CUOYYBAN
3) CUYOYBAN

4) CYOUYBAN
Correct Answer: CYOUYBAN
Candidate Answer: [ NOT ANSWERED ]

Question 14.If P denotes multiply, T denotes subtraction, M denotes addition, B denotes division then 28B7P8T6M4 = ?

I P T 37 O E, T A 31 €T §, M 7 31 A B, 3T B 7 319 41T | oY 28B7P8TEM4 = ?
Options:

1) 28

2) 30

3)32

4) 34
Correct Answer: 30
Candidate Answer: 30

Question 15.1In this question, some equations are solved on the basis of a certain system. On the same basis find out the correct answer from amongst the four
alternatives for the unsolved equation.

F THIHOT Ueh ARG JOTel & gl T 1T | 36 3R 0¥ T 710 faehied] & & Wel Seca goAe fof@ge 2

7x5x6 =576,
4x2x5 =245,
8x2x5="7?

Options:
1) 258

2) 285
3) 582

4) 852
Correct Answer: 285
Candidate Answer: 285



Question 16.Find the missing term in the following question:-

Tow 10 fashed & & ocd HEET #A1 HIfIT ?

3 - 2
2 5 2
6 7 T

6 140 18

Options:
1)1

2)7
3) 12

4) 19
Correct Answer: 1
Candidate Answer: 1

Question 17.Pranav went 10 Km to the North. Then he turned West and covered 10 Km. Then he turned south and covered 5 Km. Finally, he turned to the East and
covered 10 Km. In which direction he is from the starting point?

ord 10 k.3, 3ea” & arar| R a5 afRas 7 H{g ¥ 10 .o, =rem| F @ afétor 7 | & 5 .. =rem) 3ia # a8 q@ & 7137 31} 10 .20, o] 98 39 AR v
frm e A g ?

Options:
1) South

Correct Answer: North
3cad¥

Candidate Answer: North
3cd

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statement: Many books are rocks. All rocks are clips.
Conclusion I: Some books are clips. II: No rock is a book.

AT weat U IT & aohcred e T B, Toreh 31t &) s /ATTay, 1 3R 11 ieprer a1 &) 3den! e adelt § T aefaed T § g a8 A A aedt &
et Tlia 21T &)1 3T fAoT e & R U 910 aeFaey F 3 wiaar RiRed w7 & 9 Reans/AeadT et S ashar § ?
FFAST 1 1. FS Tecish T ¢ | 2. Wl T e €

s : [ oo qeash o 81 11 18 o ggiel G 11 81

Options:

1) Only conclusion I follows

ool sy I TE 8

2) Only conclusion II follows

Hao fsey 11 T &1

3) Both conclusion I and conclusion II follow

sy 1 3R 11 =t T 8

4) Neither conclusion I nor conclusion II follows

AT A TSRy I @Y g, 3R AT &) sy 11 T g

Correct Answer: Only conclusion I follows
ool rsny I @8 8

Candidate Answer: Only conclusion I follows

Fad Ty I Tl



Question 19.Four different views of a cube/dice are given as viewed from different angles. Find out the number of dots on the face opposite to the face with one dot.

Teh T / U o N 3TelT-37elT 5T HRT-31e7T Hivll § @Y 10 §| 39 foieg dTel hefeh & HHA & Helsh W [§wg3il I TET A1 Hifiw ?

4)3
Correct Answer: 6
Candidate Answer: 6

Question 20.Choose from the four diagrams given below, the one that illustrates the relationship among 'Languages', 'French' and 'German'.

Frfof@a ar 3l & @ 98 3@ AT S aE, S, 'S & v w8 deay @ el §)
Options:

B0

)

w

»

)

Correct Answer:

Candidate Answer:



Question 21.Which answer will complete the pattern in the question figure?

FITE Scal 3MThlcl T 3T & TTered T R Hl ?

Options:

1)
I~

2)

3)

4)

Correct Answer:
T~

Candidate Answer:
I~




Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded.

& 1 Seal 3Tl # A 38 Seak i 1 giAw fSws yea anpfa Afea § 2

}i’
Options:
1) _
\
Y
& -
~J
2)
'<.
3) _
FAY
Y
i —
TN
y e
4) _
X‘
IEELS=
Correct An;wer:
X..
=

Candidate Answer: [ NOT ANSWERED ]



Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

I et rarer 1 71 W HTER HISHR FeT ST A Wieke! & F1G d6 Tohd IMFfer St fems &am ?




Question 24.If a mirror is placed on the line MN, then which of the answe+C23r figures is the right image of the given figure?

TAEATAREe Feat & T Teh 2oT T MN 3@T 0X TET ST a1 &1 91 Seall THTerat & & a3 3mepfer weaf 3mepfer 1 #el wicrfassy gl ?

—
~
—

Options:
£y :
| |
N
_ ;I n
HT
; |
_ T} I_ | | |
=
i |
| |
INNEE NN N
b)) | u
; |

4 :
| !
T
"-\_-'! 'F
H
T
Correct Apswer:
| |
T
N =




Question 25.In the question, a word is represented by only one set of numbers as given in any one of the alternatives. The sets of numbers given in the alternatives
are represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are
numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column, e.g., O can be represented by 02,14, etc., and P can
be represented by 55,67,, etc. You have to identify the set for the word 'NECK'.

RrIfofld yeet 7 Reved! # BT 70 wEar-wg, 31&RT F & J9if garT &=ifv 7T §, oFa B & fgw arw & smeggh # €1 ey [ & was AR dfa M aear 0 d 4 a& &
TS Y, NG I & 58 9 o, 57 ITTE! ¥ U 38R Al Tgel 30T Tiare 3T T1G F T+ TEAT GIRT GRITAT ST Fhell &1 3ETE0T & foIw, O & 02, 14 3177 garT gffar
ST Hhall & T R & 55, 673711 GaRT GRITT ST el § | S8 ¥ & 3T9e! AT 2reg 'NECK' & T Heqg &f qgarter ¢

Matrix-| Matrix-1l
0 1 2 3 4 5 3 & 8 9
i} L E Q 5 C 5 R K u N T
I 5 C L E u] ] N T R K u
2 E o s C L 7 K U N T B
3 c L E o 5 8 T R K u N
4 o ] C L E 9 u N T R K

Options:
1) 96,32,34,68

2) 77,13,69,75
3) 65,21,58,99

4) 89,44,30,87
Correct Answer: 89,44,30,87
Candidate Answer: 89,44,30,87

Question 26.Which of the following green house gases has the greatest heat-trapping ability?

frfaf@a # ¥ fha i 3w St & s Fear-el sar gl g ?
Options:

1) Chlorofluoro carbon

FARIFARY FTaT

2) Methane

Y

3) Carbon dioxide

FEA SB-3TFARS

4) Nitrous oxide

ASEH HTFETSS

Correct Answer: Chlorofluoro carbon

FARITFART FTeeT

Candidate Answer: Carbon dioxide
FIeT -3 Fass

Question 27.Which State of India is leading in solar energy generation ?

R T PleA-TT AT TR FolT 3caTeaT F 3raof § ?
Options:

1) Gujarat

I

2) Rajasthan

o s

3) Haryana

giRamom

4) Uttar Pradesh

EgideCul

Correct Answer: Rajasthan
o)

Candidate Answer: Rajasthan
T8

Question 28.Diamond does not conduct electricity, because



Options:

1) It's structure is very compact

FHHT TIAT g A gIell &

2) It is of crystalline nature

7 frecdi gar §

3) There are only carbon atoms present in it

3 e ol Helel WA HiSlg 8t B

4) No free electrons are present in it

SHH FI T FolFgl 161 eI 81

Correct Answer: No free electrons are present in it
FHH I TAT FoldgiaT w1l I |

Candidate Answer: No free electrons are present in it

FEH IS TacIeT FoIagl e ai 8

Question 29.Ganga is a result of confluence of rivers Bhagirathi and Alakananda at which place ?

gl WX AR 3R 37cTheicl 74T & Aol W IPT aAdT & ?
Options:

1) Dev Prayag

&a wmT

2) Karan Prayag

T g1

3) Gangotri

EICIIE

4) Rudra Prayag

R-tpic)

Correct Answer: Dev Prayag
&3 wmT

Candidate Answer: Dev Prayag
&3 wmT

Question 30.What are Aldehydes ?

Ve3EBS FATR ?

Options:

1) Mild oxidising agents

7g, 3R woie

2) Strong oxidising agents

gl iR Toie

3) Strong reducing agents

FeTel FEHRT Toie

4) Mild reducing agents

G T Tofe

Correct Answer: Strong reducing agents
Feel FHRT Tsic

Candidate Answer: Strong reducing agents

Question 31.Which circuit is used to store one bit of data ?

U e 31er & % & U o Oidhe &1 e glar g ?
Options:

1) Register

Qi Eaay

2) Flip Flop

TP Wl

3) Vector

JFX

4) Encoder

TR

Correct Answer: Flip Flop
TFelT el

Candidate Answer: Flip Flop
TFeTT el

Question 32.Why is weightlessness experienced while orbiting the earth in space ships ?

SIS 3ecl T ITel & LT 31 TREHHACT o ST § A HRET Tl Heq@ v et & ?



Options:

1) Inertia

Ffagerar

2) Acceleration

caroT

3) Zero gravity

T IECATHYOT

4) Orbital motion

Fef aifd

Correct Answer: Zero gravity
YT TECATHIT

Candidate Answer: Zero gravity
Y TECATHIT

Question 33.Which is the largest gland in human body?

ALTG RR H T T8 Al FHleT-TT &7
Options:

1) Liver

ElEre

2) Thyroid

A R1ES

3) Pituitary

g

4) Salivary gland

R T

Correct Answer: Liver

X

Candidate Answer: Liver

EICEy

Question 34.Who was the President of Indian National Congress at the time of Indian independence ?

HRAT TTAeAAT & THT AR TSET FHiH o AETET FieT & ?
Options:

1) Maulana Abdul Kalam Azad
AT 3Hegel FHAH TSl

2) J. B. Kriplani

i, e

3) Jawahar Lal Nehru

SATER o 8w

4) Rajendra Prasad

Toleg; TG

Correct Answer: 1. B. Kriplani
S, FeEAT

Candidate Answer: Rajendra Prasad

Toleg TG

Question 35.What is the minimum age for membership to Rajya Sabha ?

T T & FEET Fofot & T 7AcTaT 31 Fhetedt gt =g ?
Options:

1) 20 years

20 a¥

2) 25 years

25a¥

3) 30 years

309§

4) 35 years

353y

Correct Answer: 30 years

30 a§

Candidate Answer: 30 years
30 9§

Question 36.What is an octroi ?

Octroi FT§ ?



Options:

1) Tax

F

2) Tax collection centre
EFH FolFe TeeX

3) Tax processing centre
g FrAfdeT A

4) Tax information centre
T STPRFRIT Teek
Correct Answer: Tax

ces)

Candidate Answer: Tax

ces)

Question 37.Sextant is an instrument used in which of the following ?

YeFeere IUSIUT T TN FohEa glar &7
Options:

1) Gynaecology

ERier e

2) Navigation

At Aol

3) Birth control

oo fegeaor

4) Medical treatment

Tafecar 37ar

Correct Answer: Navigation
At areleT
Candidate Answer: Gynaecology

SR faae

Question 38.Which of the following is not correctly matched?

efof@a d a ram e AT AT 8 ?
Options:

1) The Mahakaal temple - Ujjain

HETHIST Al - Sootel

2) Sringeri Matha - Chikkmanglur district

3) The Sun Temple - Konark

T A - FoTH

4) Jain temples - Khajuraho

ST AfPeR - Toprer

Correct Answer: Jain temples - Khajuraho
ST AfPeR - Toper

Candidate Answer: Sringeri Matha - Chikkmanglur district
HIRNHAS - Trheiaregy foten

Question 39.What is Gol Gumbadh ?

e FATE ?

Options:

1) Mausoleum of Hyder Ali

BeX 370 T AT

2) Mausoleum of Aurangazeb

3RS T FRRT

3) Mausoleum of Chand Bibi

ie, e T FhaT

4) Mausoleum of Mohammed Adil Shah

HgC, HTIE TG T FHehaRT

Correct Answer: Mausoleum of Mohammed Adil Shah
HgC, HTIE 2T T FHehaRT

Candidate Answer: Mausoleum of Chand Bibi
ie; el T FehaRT

Question 40.Where is a transistor most likely to be found ?

TITOREeX & el glet 1 Jrferepierd: et gl § ?



Options:

1) Wrist watch

FeaS Fr TS

2) Fuse

wIS

3) Hearing aid

A 3YhI0T

4) Fluorescent lamp
FeRNET ot

Correct Answer: Hearing aid
AT 3YHIUT

Candidate Answer: Hearing aid
AT 3YHhIUT

Question 41.Which organ of human body secretes Insulin?

AT RR & R 3T & gogiciat 1 1 giell 87
Options:

1) Pancreas

3R

2) Kidney

i

3) Gall bladder

el SR

4) Liver

Jhd

c
Correct Answer: Pancreas
IARRT

Candidate Answer: Pancreas
3IARRT

Question 42.1If a healthy freshwater fish is placed in salt water, what will be the expected consequence ?

#IS ITAT AT T TXT FASell T TR TTaAT 7 IWT ST df 38k GHifad TRomH a7 gier ?
Options:

1) The fish becomes dehydrated and dies

FooN STl gra #R Seatt

2) The fish becomes bloated and dies

HSOll Holehd FR ST

3) The fish suffers from fungal or bacterial disease and dies

HSA HAH T SHAT0] 9T gt § FT SCeh

4) There is no observable effect on the fish provided there is sufficient food
v P Aflrse gerrg wET RS T, et Foel & uied st Ao
Correct Answer: The fish becomes dehydrated and dies

Fel fSTelige gl A Suah

Candidate Answer: [ NOT ANSWERED ]

Question 43.Which country is known as 'Land of Midnight Sun'?

Fe T & T AT 7R & A O AT ST Tl G i3 82
Options:

1) Sweden

iz

2) Norway

At

3) Germany

FAT

4) Finland

Rretols

Correct Answer: Norway
A

Candidate Answer: Norway
A

Question 44.Which river basin is shared by more than 10 States of India ?

e G & Sf8 F R F 3cd 10 AT GaRT aicf I=ATE ?



Options:

1) Indus

iy

2) Brahmaputra
SEATA

3) Ganges

I

4) Damodar
g

Correct Answer: Ganges
I

Candidate Answer: [ NOT ANSWERED ]

Question 45.Who among the following was the first grammarian of the Sanskrit language?

Tefofa 7 @ FieT T T TUH SAEoT g a1 ?
Options:

1) Kalhana

el

2) Maitreyi

EED)

3) Kalidasa

Fferara

4) Panini

qIfoledr

Correct Answer: Panini

qTioTety

Candidate Answer: Panini

qrioTety

Question 46.What is the total strength of the Rajya Sabha?

TS T 6T Fool TEAT Tehelatl & ?
Options:

1) 250

2) 260

3) 270

4) 280
Correct Answer: 250
Candidate Answer: 250

Question 47.Which of the following is done at a Stock Exchange ?

T TR W A8 § F1 @A §?

Options:

1) Commaodities are bought and sold at wholesale price
2o ¥ O} A T 3R S S ¥

2) Commaodities are bought and sold at retail price
e & WX ag¢ @der 3R S S &

3) Securities are bought and sold

wfevsfrlt @Oy 3t a<h S B

4) None of these

EREKEIEE

Correct Answer: Securities are bought and sold
wevsrlt @Y 3t < S B

Candidate Answer: Securities are bought and sold

SRSl T 3T ST

Question 48.Which of the following is India's military offensive against Pakistan in the Kargil war ?

FRIA T SIS H IIfEdTeT & Ao HRART TT ST 31TehAS ! vl AT F ST ST § ?



Options:

1) Operation Kargil

3iTaerT HRFAE

2) Operation LOC

HTORRIET Ter 3.

3) Operation Vijay

e s

4) Operation Success

JHaReT TFaE

Correct Answer: Operation Vijay
e s

Candidate Answer: Operation LOC
TR Ter 3.

Question 49.Who gave the title 'Nightingale of India' to Sarojini Naidu ?

WIS A3 1 A ieere 3w siPsar & f@aw frae farar?
Options:

1) Jawaharlal Nehru

STATER o Sg®

2) Rabindranath Tagore

Taeg /T &R

3) Rajendra Prasad

Toleg; TG

4) Mahatma Gandhi

FHGTCHT el

Correct Answer: Mahatma Gandhi
HGTCHT e

Candidate Answer: [ NOT ANSWERED ]

Question 50.The headquarters of RBI is in

R3S, T HEATERT Fel ¢ ?
Options:

1) Delhi

e

2) Kanpur

AT

3) Mumbai

EitaE)

4) Nasik

ATRAH

Correct Answer: Mumbai
2
Candidate Answer: Mumbai

Liresy

Question 51.

The value ofJQ + 216+ 34512 is

VO + 216+ 3512 AT AT & 2

Options:
1)6

2)5
3)2v8

4) 3v6
Correct Answer: 5
Candidate Answer: 2v8

Question 52.The lengths of diagonals of a rhombus are 24cm and 10cm the perimeter of the rhombus (in cm ) is :

Tl FEEelsT & fasult i drarsar 24 QA 3R 10 A ) 58 THagels w1 IRAT (@2, &) #2378 ?



Options:
1) 52

2) 56
3) 68

4)72
Correct Answer: 52
Candidate Answer: 52

Question 53.A dishonest shopkeeper professes to sell goods at his cost price but uses a false weight of 950 gms, for each kilogram. His gain percentage is

T JEAT GHEICR 3T HIel 1 33 - Hed T ST T EdT AT § o] a8 Teh fhellarsl & T U= 950 ITH T FiE SEIHTC FHlcll &1 SHeRT oy Fferere fpeter & ?

Options:
1)

610:"
3%

2)

5

— 0
5 19;%

3)
3
—_ 0
5 17 Yo

4)

6 2 %%
? a

Correct Answer:
5

5 -—g
19 .

Candidate Answer:

5
— 0
519;4:

Question 54.Ratio of A's age to B's age is 4:3. 'A" will be 26 years old after 6 years. The age of B now is

AT 31 3R B 1 31 & 3T 4:3 §1 6 I TN A 26 A T 81 SAWAT| B Y FcideT 31 AT 8 ?
Options:
1)

1.
195 years

19% =
2) 12 years
12 a¥

3) 21 years
213y

4) 15 years
15a¥

Correct Answer: 15 years

15a¥

Candidate Answer: 15 years

15a¥

Question 55.If the Arithmetic mean of 7, 5, 13, x and 9 is 10, then the value of x is

g 7,5, 13, x, AT 9 &7 38T 10 8, AY X T FleT F2T BT ?

Options:
1) 10

2) 12
3) 14

4) 16
Correct Answer: 16
Candidate Answer: 16

Question 56.A man sells an article at 15% profit. If he had sold it for [ 6 more, he would have gained 18%. The man bought the article for

Teh el Tohall o] Y 15% iTeT O) il & | Afe; 38T 590 (1 6 3ok O < gielT , i 38 18% a1 8T IclT| Siekel o O ] foheted S0 & @ley o 2



Options:
1) 100

2) 150
3) 200

4) 250
Correct Answer: 200
Candidate Answer: 200

Question 57.A's salary was decreased by 50% and subsequently increased by 50%. How much percent does he lose?

A T IeT 50% ®eT T 3T 3R 16 7 50% ser far Ir | Wﬁmﬁqﬁamﬁaﬁrgﬁ?

Options:
1) 25%
2) 50%
3)

'].215'*‘r
5 70

4) No loss

@t 781 g6

Correct Answer: 25%
Candidate Answer: 25%

Question 58.A car moving in the morning fog passes a man walking at 4km/h. in the same direction. The man can see the car for 3 minutes and visibility is upto a
distance of 130m. The speed of the car is :

T % PIEY A Teicl! 6 Teh R ST ol 3 4 5.2 /efer Y 1t & Yeiel Tefe) §U Teh el 1 IR Al | H1eh 3 FAee T R 1 8@ Hehell § T PIER & BT hefel
130 #ex #r g T ST T FehelT §| FR AT AT FAT G ?

Options:
1)

72 km/h.

73 5% e
2)
62 kmyh.

62 .. /efer

3) 7km/h.

7 R g

4) 5km/h.

5 fop. . /ger
Correct Answer:
62 kmyh.

6% 5. #r./aer
Candidate Answer: [ NOT ANSWERED ]

Question 59.A money lender lends Rs. 400 for 3 years to a person and lends Rs. 500 for 4 years to the other person at the same rate of simple interest. If altogether
he receives Rs. 160 as interest, what is the rate of interest per annum ?

Wwwa’qﬁraﬁm. 400 3 ¥ & TIT 9T Ueh 31T TTad &l Rs. 500, 4 Y & foIT FRIROT sATeT Y Teh &) & W 3UR T & T Foof TAATRT 38 Rs. 160 T =TS
9Ted &Y, aF a1 sITeT o e a7 gl ?

Options:

1) 5%

2) 7%

3) 9%

4) 10%

Correct Answer: 5%

Candidate Answer: 5%

Question 60.If x = 1/(v/2+1) then the value of X2 + 2x - 1 is

IR x = 1/(v2+1) &, arx? + 2x - 1 T AT AT Q1T ?



Options:
1) 2v2

2) 4
3)0

4)2
Correct Answer: 0
Candidate Answer: 0

Question 61.If x + 1/x = V13, then 3x/(x>-1) equal to

IR X + 1/x = V13 &, @Y 3x/(x2-1) ol HieT 4T g ?
Options:

1) 3V13

2) V13/3

3)1

4)3
Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]

Question 62.0 is an centre of a circle. P is an external point of it at distance of 13cm from O. The radius of the circle is 5cm. Then the length of a tangent to the circle
from P upto the point of contact is

O, Th Jocl &l g g1 P Teh STEY faieg @ 5T O & 13 WAL gl 0 &1 38 goct &1 FHear 5 4.2, {1 el P fdeg & goa o Tush 3@ & e - feg deh 1 gt feheetr giofr ?
Options:

1) V194cm

2) 10cm

3) 12cm

4) 8cm
Correct Answer: 12cm
Candidate Answer: 12cm

Question 63.If 8 is acute angle and sin(6+18°)= 1/2, then the value of 6 in circular measure is

IfE @ =37 0T &Y 3 sin(8+18°)= 1/2 &Y, A THT AT 3 § T AT FobeT=T grem ?
Options:

1) N/12 radians

n/12 =g

2) /15 radians

n/15 ¥f3a=a

3) 2M/5 radians

2N/5 3f3T=a

4) 3MN/13 radians

3n/13 ¥3T=w

Correct Answer: /15 radians
n/15 3a=a

Candidate Answer: /15 radians
n/15 f3a=a

Question 64.18 men or 36 boys working 6 hours a day can plough a field in 24 days. In how many days will 24 men and 24 boys working 9 hours a day plough the
same field ?

18 3TTeHY 3720dT 36 oT5eh 6 E¢ Ul e e Tiah Ueh B I 24 BaT & Sia Tha &1 24 3T 9T 24 o5 [Hele 9 Tue FiAfeeT & wteh 38 @ 1 fhde et & iy ?

Options:
1)9

2) 10
3)6

4)8
Correct Answer: 8
Candidate Answer: 8

Question 65.If a(x + y) = b(x - y) = 2ab, then the value of 2(x2 + yz) is

i a(x +y) = b(x - y) = 2ab &, & 2(x% + y2) T H=T F2T g1 ?



Options:
1) 2(a2 - b?)

2) 2(a2 + b?)
3) 4(a2 - b2)

4) 4(a2 + b?)
Correct Answer: 4(a? + b?)
Candidate Answer: [ NOT ANSWERED ]

Question 66.If x + 1/x = 6, then value of x2 + 1/x? is

FREX + 1/x = 6 &Y, dAT X2 + 1/x2 1 AT 71T Hforw ?

Options:
1) 23

2) 16
3) 34

4) 32
Correct Answer: 34
Candidate Answer: 34

Question 67.G is the centroid of the equilateral triangle ABC, if AB = 9cm then AG is equal to

G, Ueh TSI 3T ABC 1 Sheh 1 TeRTaR AT AB =9 A3, &Y, Y AG febieh sreiY g1t 2
Options:

1) 3v3em

3v3 o

2) 3cm

3.

3) 3v3/2cm

3v3/2 @A

4) 6cm

6 T3

Correct Answer: 3v3cm

3vV3 &,

Candidate Answer: 6cm
6 T3

Question 68.In the figure (not drawn to scale) given below, if AD = DC = BC and «BCE = 96°,then ~DBC is

fow a7 R 3 (S AT % 37ER 781 §) G AD = DC = BC 31 £BCE = 96° &Y, @t 2DBC &I HIeT &7 g1 ?

A D B

Options:
1) 32°

2) 84°
3) 64°

4) 96°
Correct Answer: 64°
Candidate Answer: [ NOT ANSWERED ]

Question 69.If 8 is positive acute angle and 4sin20 = 3, then the value of tan 6 - cot 6/2 is

Tfer 64T 7T 0T 1 3R 4sin6 = 3 8, T tand - coth/2 FT A FATST ?



Options:
1)1

2)0
3)V3
4) 1/v3

Correct Answer: 0
Candidate Answer: 0

Question 70.The chord AB of a circle of centre O subtends an angle 8 with the tangent at A to the circle. Then measure of2ABO is

O &g aTel gl 1 STaT AB Jeodl &l A TR T Y& & HIY 0T BT AR Fch &1 2ABO 1 AT 7T ghafr

Options:
1)6

2)90°-9
3)90° + 0

4) 2 (180° - 0)
Correct Answer: 90° - 6
Candidate Answer: 90° + 6

Question 71.From a point on a bridge across the river, the angles of depression of the banks on opposite sides of the river are 30° and 45° respectively. If the bridge
is at a height of 2.5m from the banks, then the width of the river is (take V3 = 1.732)

A & ol TR TRl g @ T8 o 3THA-FIHeT ATl oheTRT o 37Tt ShioT sharer: 30° 3R 45° 1 AT Gor 78T & oAy & 2.5 #ex &1 Femg w1 g, ar a1y &y <lisié aarsw ?
(& AT gU %6 V3= 1.732)
Options:

1) 5.83m

5.83 7.

2) 6.83m

6.83 7.

3) 5.76m

5.76 .

4) 6.87m

6.87 7.

Correct Answer: 6.83m
6.83 7.

Candidate Answer: 5.83m
5.83 .

Question 72.The pie-chart given below show usage of materials in a construction of a house. Study the chart and answers the questions :

até e F e a) & TRHE0T A g Al B i o §) 9 o 3eage ik Ut & ook &S| ?

Labour

The percentage of steel used in the construction of a house

R & fosor & ggaa geara 1 gfdea A fifere ?

Options:

1) 10%

2) 12%

3) 20%

4) 36%

Correct Answer: 10%
Candidate Answer: 10%



Question 73.The pie-chart given below show usage of materials in a construction of a house. Study the chart and answers the questions :

1§ =1 #H fREr e & T AT 3 g Arel B aRfar ar §) = T e de e 9ea F 3ok Afw) ?

9c”

Labour

The ratio of cement and bricks used in the construction is

AT PAT 13 THOT H vgeret 1 71 Wil 3R EF 7 AT JgareT & 2

Options:
1)
3:4

2)
2:3
3)
4:3
4)
25

Correct Answer:

4.3

Candidate Answer:

4:3

Question 74.The pie-chart given below show usage of materials in a construction of a house. Study the chart and answers the questions :

1§ =1E # fHEr e & T AT 7 g el B eRfa I §1 = S 3rede e 9eal F 3ok Afiw ) ?

Labour

If the cost of cement is [J 5000/~ then the labour cost is

gfe; HiAvE T & [ SOOO%Eﬁaﬁa#qTWEa‘rgm?

Options:
1) 5500

2) 6250
3) 9000

4) 4000
Correct Answer: 6250
Candidate Answer: 6250



Question 75.The pie-chart given below show usage of materials in a construction of a house. Study the chart and answers the questions :

1§ =1 #H fREr e & T AT 3 g Arel B aRfar ar §) = T e de e 9ea F 3ok Afw) ?

9c”

Labour

The average of percentages of steel, cement and miscellaneous items used in the construction is

TAOT 3 gt geuTd, Weve AR fafae #ef & fcerdl & 3 g Hifse ?
Options:

1) 10%

2) 25%

3) 20%

4) 35%

Correct Answer: 20%

Candidate Answer: 20%

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

REPROOF

Options:

1) WARNING

2) RIDICULE

3) REBUKE

4) THREAT

Correct Answer: REBUKE

Candidate Answer: [ NOT ANSWERED ]

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
toit.

INVALUABLE

Options:

1) PRICELESS

2) RARE

3) INESTIMABLE

4) WORTHLESS

Correct Answer: WORTHLESS

Candidate Answer: [ NOT ANSWERED ]

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Stagnetion

2) Stagnasion

3) Stagnation

4) Stegnation

Correct Answer: Stagnation

Candidate Answer: Stagnation

Question 79.1n the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

I have come (A)/ as soon as (B)/ the customers leave your shop (C)/ No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: C



Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

I called (A)/ at his house yesterday (B)/ and have given him money (C)/ No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: C

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

The reason for (A)/ my absence is (B)/ due to ill health (C)/ No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: B

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

I like in the sun.
Options:

1) laying

2) lay

3) lie

4) lying

Correct Answer: lying
Candidate Answer: lie

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Please do not an offer made by the Chairman.
Options:

1) deny

2) refuse

3) refrain

4) refuge

Correct Answer: refuse

Candidate Answer: refuse

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

The clerk asked for my
Options:

1) determination

2) destiny

3) destination

4) designation

Correct Answer: designation

Candidate Answer: designation

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Evening of life

Options:

1) Old age

2) A party

3) Holiday

4) None of these

Correct Answer: Old age

Candidate Answer: [ NOT ANSWERED ]

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Button her lip



Options:

1) Tell us more
2) Stop talking
3) Invite us too
4) Enjoy herself

Correct Answer: Stop talking
Candidate Answer: [ NOT ANSWERED ]

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Invent cock and bull stories
Options:

1) Delightful fables

2) Eco-friendly accounts

3) Absurd and unlikely stories
4) Credible tales

Correct Answer: Absurd and unlikely stories
Candidate Answer: Absurd and unlikely stories

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Act of making things like new again.
Options:

1) Innovate

2) Renovate

3) Motivate

4) Activate

Correct Answer: Renovate
Candidate Answer: Renovate

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

One who knows everything.
Options:

1) Omniscient

2) Conscious

3) Intellectual

4) Learned

Correct Answer: Omniscient
Candidate Answer: Omniscient

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Any morbid dread of water.
Options:

1) Hydrofoil

2) Hydrophobia

3) Hydraulic

4) Hyacinth

Correct Answer: Hydrophobia
Candidate Answer: Hydrophobia

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

You have come here with the intention in insulting me.
Options:

1) for insulting me

2) of insulting me

3) on insulting me

4) No improvement

Correct Answer: of insulting me

Candidate Answer: of insulting me

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

I did not give at the examination as my circumstances are bad.
Options:

1) write

2) sit

3) appear

4) No improvement

Correct Answer: appear

Candidate Answer: appear



Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Though he worked hard, but he failed.
Options:

1) and

2) yet

3) then

4) No improvement

Correct Answer: yet
Candidate Answer: yet

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

No sooner did the teacher come into the class when we stood up.
Options:

1) since

2) then

3) than

4) No improvement

Correct Answer: than

Candidate Answer: than

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

He was so much a coward to help his friend.
Options:

1) so much cowardly

2) too much of a coward

3) as coward

4) No improvement

Correct Answer: too much of a coward
Candidate Answer: too much of a coward

Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

In the world today we make health an end in itself. We have forgotten that health really means to enable a person to do his work and do it well. A lot of modern
medicine, and this includes many patients as well as many physicians, pay very little attention to health but very much attention to those who imagine they are ill. Our
great concern with health is shown by the medical columns in newspapers, the health articles in popular magazines and the popularity of television programmes and
all those books on medicine. We talk about health all the time. Yet for the most part the only result is more people with imaginary illness. A healthy man should not be
wasting time talking about health : he should be using health for work.

Modern medicine is primarily concerned with
Options:

1) promotion of good health

2) people suffering from imaginary illness
3) people suffering from real iliness

4) increased efficiency in work

Correct Answer: people suffering from imaginary illness
Candidate Answer: people suffering from imaginary illness

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

In the world today we make health an end in itself. We have forgotten that health really means to enable a person to do his work and do it well. A lot of modern
medicine, and this includes many patients as well as many physicians, pay very little attention to health but very much attention to those who imagine they are ill. Our
great concern with health is shown by the medical columns in newspapers, the health articles in popular magazines and the popularity of television programmes and
all those books on medicine. We talk about health all the time. Yet for the most part the only result is more people with imaginary illness. A healthy man should not be
wasting time talking about health : he should be using health for work.

The passage suggests that

Options:

1) health is an end in itself

2) health is a blessing

3) health is only a means to an end

4) we should not talk about health

Correct Answer: health is only a means to an end

Candidate Answer: [ NOT ANSWERED ]



Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

In the world today we make health an end in itself. We have forgotten that health really means to enable a person to do his work and do it well. A lot of modern
medicine, and this includes many patients as well as many physicians, pay very little attention to health but very much attention to those who imagine they are ill. Our
great concern with health is shown by the medical columns in newspapers, the health articles in popular magazines and the popularity of television programmes and
all those books on medicine. We talk about health all the time. Yet for the most part the only result is more people with imaginary illness. A healthy man should not be
wasting time talking about health : he should be using health for work.

Talking about health all the time makes people
Options:

1) always suffer from imaginary illness

2) sometimes suffer from imaginary iliness

3) rarely suffer from imaginary illness

4) often suffer from imaginary iliness

Correct Answer: often suffer from imaginary illness
Candidate Answer: sometimes suffer from imaginary illness

Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

In the world today we make health an end in itself. We have forgotten that health really means to enable a person to do his work and do it well. A lot of modern
medicine, and this includes many patients as well as many physicians, pay very little attention to health but very much attention to those who imagine they are ill. Our
great concern with health is shown by the medical columns in newspapers, the health articles in popular magazines and the popularity of television programmes and
all those books on medicine. We talk about health all the time. Yet for the most part the only result is more people with imaginary illness. A healthy man should not be
wasting time talking about health : he should be using health for work.

The passage tells us

Options:

1) how medicine should be manufactured

2) what a healthy man should or should not do
3) what television programmes should be about
4) how best to imagine illness

Correct Answer: what a healthy man should or should not do
Candidate Answer: [ NOT ANSWERED ]

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

In the world today we make health an end in itself. We have forgotten that health really means to enable a person to do his work and do it well. A lot of modern
medicine, and this includes many patients as well as many physicians, pay very little attention to health but very much attention to those who imagine they are ill. Our
great concern with health is shown by the medical columns in newspapers, the health articles in popular magazines and the popularity of television programmes and
all those books on medicine. We talk about health all the time. Yet for the most part the only result is more people with imaginary illness. A healthy man should not be
wasting time talking about health : he should be using health for work.

A healthy man should be concerned with

Options:

1) his work which good health makes possible

2) looking after his health

3) his health which makes work possible

4) talking about health

Correct Answer: his work which good health makes possible

Candidate Answer: his health which makes work possible



